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C++ - NINN - 'R PN

1(1-5 MYNY) MINAN MINYN _§ LA 3 9y Ny
1 'on nYny

J1NB - STRING 3100 D90 1 Tann np2nn Nnm

#include <string.h>
#include <iostream.h>

const int max_len =255;

class string {
public:
void assing(const char * st) { strcpy(s,st); len = strlen(st); }
int tength( ) { return len; }
void print( } { cout << s << “\nLength: “ <<len <<endl ; }
friend string operator+{const string& a,const string& b);
private:
char s[max_len];
int len;

3

print —y assign, length svspnon mysannn X ('3 §)
string operator-+(const string& a,const string& b) mypnon x> .3 (Py5)
INDR AV S A nx minm b -ra ammnm snw S mand nbapn mypnan

swoverload nyxan 2om string npbnpn S #friends -5 nvmm mspnon a2 ow
SN + NMIIDING

NN CTANY NDYIN ,SIring 21om 0NNYN NSV VTN WK IMNN 2N A (P 5)

mnn vsecond string” nynnn NN nEMon Awn ninnny “first string”™ :nymnnon
MY DY YN NN THYYIUN DTNNNY 090 12 123 ,1971IK INY MHINHT NN 99TH
JI97IN AN MY INDND AR DT MNYNIN MDD

string o class -5 constructor »nnw 15 String APYNHRN NIHN AN MD.T{PI 5)
:INIA YNNI NTNND PTINY THIND TUN

string c(“This is a way to initialize a string”);
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2 1991 NNY

: (abstract base class) nowa Hponn S mmn M

class average_action {
public:

virtual double average() = 0;
3
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X=3;
y=3;
while (x>y>0)

x=5;
y=4,
while (--x == y++)
{
x+=3;
}
X+

?

char c="F'-’A’;
int x=7;
do

X~

}

while (x!=c);

=8,
for (x=1;(x|z)!=15;)
x++;

3’080 NINY
.C AV MMI2N WOPD 190D T
INTEGER NOR DNV X,y,2,1,j

:JOPT NPT INNGD X D129 T AR R ('P14)
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#include <iostream.h>

main()

{

int tmp1=1,tmp2=1,tmp;
int res1=0, res2=0;
usigned int a,x;

a=0xf388;
x=0x0001;

tmp=a&x;

for (x=x<<1{;x;x=x<<1)
{
if (}(x&a) = = ltmp)
il; (tmp)
tmpl++;

}
else

{
tmp2++;

}
else
tmpl=tmp2=1;
tmp=a&x;
}

if (resl<tmpl) resl=tmpl;

if (res2<tmp2) res2=tmp?2;

cout << “Anthe first Number is: “ <<resl << end];
cout << *nthe second Number is: “ << res2 <<endl;

return 0;

}

4 'on_ DNy

:C++ nava n2non M Ay

1PN NPNIAN IHINND NYIIN N INN N (P 8)
MYMN NOAMDMA DTN AN .A('Prd)

:212) a=0x{388 NYIVN DIPNI ON XM NOI IMNINN AT NN A (M 8)

a=0xffif .1
a=0x0000 .2
a=0x1834 .3

a=0x3007.4



90729

#include <iostream.h>

main ()

{

const int N = 5;

int mat[N][N] = {{1,1,2,1,1},
{1,2,3,2,1},
{2,2,20,4,2},
{1,2,3,2,1},
{L1,2,1,1}};

const int num = (N/2)+N%?2;
int res[num] = {0};
int i,j,t;

for {t=0;t<num;t++)
{
for (i=t,j=t;i<N-t;i++)
{
res[t] += mat{i][j];
if (if=) res[t] += mat{j]{i];
'
for (j4++,1--;j<N-t;j++)
{
resft] += mat[i]fj];
if (i =) res[t] += mat[j][i];
}
}

int flag;

for {flag=1,t=0;t<num- 1 & & flag;t++)
if (res[t] != res[t+1]) flag =0 ;

if (flag) cout << “\nYes1!!” <<endl;

else cout << “AnNo '!!” << endl;
return 0,

}
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VHDL - 2990 NIND nav - ’a Pon

(6-9 MYNY) MNAN MINUN 4 T 2 Yy Ny

6 10U NINY

.4=>16 o1 5¥a Decoder Y¥ PPN N2 112N INNN NN NP N

-- bad 4 -> 16 decoder design
entity decl6bad 1s
port (ain : in integer range O to 15
dout: out bit_vector (15 downto 0) ) ;
end debl6bad;

architecture arc_dec16bad of decl6bad is
begin
process {(ain)
begin
dout(ain) <= ‘1’ ;
end process ;

end arc_decl6bad ;
LYWHN YY MINAD IO My nyanon .l (P 5)

ns ain dout =?
0 0

100 1 ?

200 2 9

300 3 ?

400 4 7

500 15 ?

Y NOIHN TINCIND? 1R XINY 3 (DB DMV 970 XIPN IR PN .2 (P 5)
D NN

DN2N NP YOP DY .NDYN NXY 0ND9-925a0 PR DNINND 0339157122 ('Pr 10}
AN M g bar NRAPIY 9198-09580 NYDYR NN NN TYOID NNMVPYIIING DRIV
AOR T MINMYTH DNX D20 MIP0I0N YD MY TVTow (7N} vinoni

AN TINYI MNONTN
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-- example |
process ( clk , resetN )
begin
if resetN = ‘0’ then
q <=0
q_bar <='1";
elsif clk’ event and clk = ‘1’ then
qQ <=d;
q bar <= not d;
end if’;
end process |

-- example 2
process ( clk , resetN )
begin
if resetN = ‘0’ then
q <=0,
elsif clk’ event and clk = ‘1’ then
q <=d,;
end if;
end process
q bar<=notq ;
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8 1900 niNw

03 812 AND yw paw 19:Na) INN? Nodn Nan Tign

process ( X )
variable temp : bit =1";
begin
foriin O to 7 loop
temp = x(i) and temp ;
end loop ;
y <= temp;
end process

(TEINON MRNIN NN DYYN N (' 7)

ns X

0 11111111
100 11100000
200 00001011
300 11111111

N R R I

1T TP DHYPID N2 NYMNM D), DY MY TN 300 A ('PI5)

NN PRY NP DAPIIY T3, loop-N NN VAT A MIMND XA PN IR MY 2 {/PI18)
{M0M3 8 12 AND v} /Misan masn NN NN
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